gralall a8 ) bl and
math 202.
Calculus 2.
First Exam

Date: Saturday 22 / 11/ 1431.
Time: from 21:00 to 22:30.
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QL.

The lower sum with four rectangles of equal

width of f(x) =2

X

between x =1 and x =05 is

Y
A
1 +4
1 2 3 & 5
(A) 1 1 1 1 (B)l 1 (C) 1 (D) 1 1 1
14+>+>+-+4-= S-S -4+ = 1+>+>+=

2 3 4 5 4 2 3 4
Q2.

Suppose that Y 7_; ar, =3 and X}p_; b, = —5. Then Y3_,(by — 2ay) =
(A) (B) (©) (D)

—-11 11 1 -1
Q3.

22=1k2 =
(A) (B) (®) (D)

9(10) (19) 8 (9) (17) 7 (8) (15) 6 (7) (13)

6 6 6 6
Q4.

If 1< f(x)<6 foreach x€[1,3]and f iscontinuouson[1,3], then
™ ® © ©)
“1<[[f(dx <1| 0< [ fl)dx <1| [/ f(dx <-12 |2 < [7f(x)dx <12
Q5.

If f is an even function and f_zzf(x)dx =8, then foz% dx =
(A) (B) (®) (D)

2 1 1 1

2 4
Q6.

If g(x) = fOxStZdt for each x € [1,9], then g'(2) =
(A) (B) (®) (D)

8 4 16 12




Q7.

If h'(x) = k(x), foreach x, then [ k(x)dx = h(x) + C, where C is constant.

(A) (B)
TRUE FALSE

Q8.

% (fzx cost dt) =
(A) (B) €) (D)

2t sint —2x sinx? 2x cos x> 2t cost?
Qo.

If f is integrable on (—co, o0 ) , then the answer of [ f(x)dx is a function
(A) (B)

TRUE FALSE

Q10.

f3 x° cosx dx =

-3
(A) (B) €) (D)

_z2r 3 2n 0
3 2 3

11,

[ x?% sin(x3) dx =
(A) (B) (€) (D)

—gcos(xg’) +C %cos(x3) +C —%sin(x3) +C gsin(xB) +C

012,

The indefinite integral [ cotx csc?x dx has two different correct answers.
They can be obtained by substitution

(A) (B) ©) (D)
u = cotx and u = cotx and u = cotx and u = cotx and
u =csc?x U =CSCX U = CcSCx cotx u=x
aia ) o Jpanllagle Cunti g g 512 8, sl ) S5 50 13 a3 il
Q13.

The indefinite integral [ cotx csc?x dx has two different correct answers.
They can be obtained by substitution

(A)
u = cotx and
u = csc?x

(B)
u = cotx and
U = CSCX

(®)
u = cotx and
U = cScx cotx

(D)
u = cotx and
u=x




Q14. The area of the region between the curves of
fx)=7-2x% and g(x) =x%+4is

(A) (B) (€)

9 —12 4
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Q15.

The area of the region between the curves of f(x) =7 — 2x? and g(x) = x? + 4
IS
(A) (B) (€) (D)

9 —12 4 12
Q16.

86 V62— 1 db =
(A) (B) ©) (D)

3(02 — 1)7 +C

3(62 — 1)7 +C

3(6%2— 1)i +C

3(6%2— 1)z +C

Q17.

If £ is non-negative and continuous on [a,b ], then fff(x)dx means the

area of the region bounded by the curve of f and the x-axis between the vertical
lines x =a and x = b.

(A)
TRUE

(B)
FALSE

Q18.

The volume of the solid generated by revolving the region bounded by curve
y=x%+4 1 and the line y = x + 3 about the x-axis is

(A)

119w

(B)

117w

(€)

113w
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Q109.
The volume of the solid generated by revolving the region bounded by curve
y=x2+4+ 1 and the line y = x + 3 about the x-axis is

(A) (B) ©) (D)
1197 117 113w 111m

5 5 5 5

Q20.
By using the shell method, the volume of the solid generated by revolving the

shaded region bounded by the lines y =+/3,x =3 and the curve x = 3 — y?
about the x-axis is

y
Vile2=Y3
x=3— y2
A\
0 3 @ g
(A) (B) ©) (D)
o i 5m an
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Q21.

The volume of the solid generated by revolving the shaded region bounded
by the lines y =+/3,x =3 and the curve x = 3 — y? about the x-axis is

(A) (B) (©) (D)
o 7T 51 3w

2 2 2 2

Q22.
The integral for the length of the curve y=x%, —1<x <2 is

(A) (B) (€) (D)
f_zl V1 — 4x? dx f_21\/1+x2 dx f_21\/1+4x2 dx f2_1\/1+4x2 dx




Use the following formulas to solve ;
Questions 23, 24, and 25. 25 524 523 ALY Jal AUl il &8l andsl
Note that the density function is 5(x) S(X) (& A8l aas ) Allal)

b
Moment about the origin along the x-axis: M, = jxa(x)dx
. a
Mass along the x-axis: M = ja(x)dx

: M
Center of mass along the x-axis: x= VO

Q23.
If the density of a thin rod is given by &§(x) = 2—2 , Where the rod is lying along the

interval [0, 4] of the x-axis, then the moment M, about the origin is

(A) (B) (©) (D)

31 32 31 32

3 3 2 2

Q24.
If the density of a thin rod is given by §(x) = 2—2 , Where the rod is lying along the

interval [0, 4] of the x-axis, then the mass M is

(A) (B) (©) (D)
5 6 7 8

Q25.
If the density of a thin rod is given by 5(x) = 2—2 , where the rod is lying along the

interval [0, 4] of the x-axis, then the center of mass x is

(A) (B) ©) (D)

31 16 31 2
15 9 14




